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QUESTION 1

-- Exhibit 

-- Exhibit -Click the Exhibit button. 

Referring to the exhibit, you are asked to verify certain routing information within your OSPFv3 routing domain. You
must review the prefixes learned from R3. 

Which two LSA types from the output shown in the exhibit must be reviewed? (Choose two.) 

A. the Router LSAs from RID 10.0.0.2 

B. the Extern LSAs from RID 10.0.0.2 

C. the InterArPfx LSAs from RID 10.0.0.2 

D. the Network LSAs from RID 10.0.0.2 

Correct Answer: BC 
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QUESTION 2

-- Exhibit -

user@router> show bgp summary Groups: 3 Peers: 3 Down peers: 0 Table Tot Paths Act Paths Suppressed History
Damp State Pending inet.0 10 8 0 0 0 0 inet6.0 4 3 0 0 0 0 Peer AS InPkt OutPkt OutQ Flaps Last Up/Dwn State|
#Active/Received/Accepted/Damped... 

10.0.3.5 65550 41 52 0 2 17:45 5/5/5/0 0/0/0/0 

172.16.0.6 65010 52 42 0 2 31 Establ inet.0: 3/5/5/0 inet6.0: 3/4/4/0 2001:ffff::3:5 65550 43 44 0 4 17:53 Establ inet6.0:
0/0/0/0 

user@router> 

-- Exhibit -Click the Exhibit button. 

Examine the output of the show bgp summary command shown in the exhibit. 

From which BGP peer is the router receiving IPv6 routes? 

A. 10.0.3.5 

B. 172.16.0.6 

C. 2001:ffff::3:5 

D. 2001:ffff:3:5 

Correct Answer: B 

 

QUESTION 3

-- Exhibit -- Exhibit -

Click the Exhibit button. 

Referring to the exhibit, USER1 wants to only receive multicast traffic for group 225.0.0.1 and USER2 wants to only
receive multicast traffic for group 225.0.0.2. Both users are connected to an EX Series switch and are receiving
unwanted multicast traffic. 
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What will resolve the problem? 

A. Create IGMP static groups with the exclude parameter. 

B. Enable the IGMP immediate-leave parameter. 

C. Use PIM sparse mode instead of PIM dense mode. 

D. Enable IGMP snooping. 

Correct Answer: D 

 

QUESTION 4

In MSTP, which two factors determine the root bridge in each region? (Choose two.) 

A. The switch with the higher priority becomes the root bridge. 

B. The switch with the lower priority becomes the root bridge. 

C. The switch with the lower MAC address becomes the root bridge when priorities are tied. 

D. The switch with the higher MAC address becomes the root bridge when priorities are tied. 

Correct Answer: BC 

 

QUESTION 5

A packet enters the router and is subject to ingress\\'s processing. In which order is the packet processed? 

A. Policer >BA classifier>multifield classifier>forwarding policy 

B. multifield classifier>BA classifier>policer>forwarding policy 

C. BA classifier>multifieldclaasssifier>policer>forwarding policy 

D. forwarding policy> BA classifier>multifield classifier>policer 

Correct Answer: C 
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